]

D+49

29.4+49

294

-

ull

A

ul

294+49=294+-49=6




[ ]gtoll gure =5 A2 HY oA e,

60.3+6.7 = |67 = |

iy

it

603

v Vv v Vv
0
it

0
o
©

B

250 Aol A Uie 4ol 104, 100, 10008 -, 5HH,
Lo} 2= o % 104, 1008, 1000HH- .- oFof AFA4==2 Tt
Sof Al Al4te gk

60.3+6.7 = 60367 = 9




]

72+1.2

.

ul

72+12=72+12=06




[ ot ggte 5 Atz N oA L.

238+34=] |+34=[]

iy

it

238

v Vv v Vv
0
iy

0
i
J

B

250 Aol A Uie 4ol 104, 100, 10008 -, 5HH,
o] 2= ol 108), 1008, 10008 .-, 5} AFA4== Tt
Eol UieAl Aite gt

23.8+34=238+34=7




=[Js12=[]

UJ
100

4.32 +0.12

432

.

ul

JAY

100

-

ul

432

-

ul

36

-

ul

432 +12 = 36

432 12
100 ~ 100

4.32+0.12




259 JAS B4 Yeor nA Aarets B¢
FE 2 dE P oA

L] 815 s
7335815 = — + oo =[ [+815=[ ]
> E
> E
> E.
> =E D 1335
D> &E 1335
DSi=
7335 _ 815

35+815= —— + — = +815 =
7335+ 815 = o + 15 = 7335815 =9




Ao Al 5.

110.96 + 5.84

it

\VARR 4
0
i

19

110.96 + 5.84 = 11096 + 584 = 19




g 5.

0] bl

8.

0.29)5.22

B




> =

> "ED 528

259 YAl Ure £5 Ad4E Thso] WAl Axtet
Uth UL 40 100 i OB R Ro]A L S0 & 100

ujgh et
5.28 +1.32 =528 =~ 132




10. 249 YeAlE shAl 2.

73.5+1.75

it

\VARR 4
0
i

42

73.5+1.75 = 7350 + 175 = 42




1.7)3.06 = 17)_]

30.6

e

ul

5

1.7)3.06 = 17)30.6




2 @ A S,

47t HES Pk Soh hirolat 4o &




13. 249 WeAE shAl 2.

8.7)13.92

=
H -

>
> &g 16

1.6
8,7)13 92

8 7
5 22
5 22

(e}




14. [ oro] gre 2 HYOAL,

3572121 - |+ 121

iy

[ 2
> =g 35.72

0

UHrs £ 1008H9 Lhirol Al S 10ugh e,
3.572 +12.1 - 35.72 + 121




15.

[ ]otell ggre 22 Ny oA Q.

3225+  |=3225+75

iy

\VARR 4
0
i

750

3225 = 3.225x 100 ©]2& [ |=7.5x 100 = 750




100

40

‘ 100 + 2.5 = 1000 + 25 = 40

-

ul




17. 259 YeAlE shAl 2.

819 +2.6

it

\VARR 4
0
i

315

819 + 2.6 = 8190 + 26 = 315




18. o= WeAle] fg W Este] a4 4 A= 7HA] YER AL,

127+54

it

>
> &8

. 235

WAl 9] 5= ihEEste] a4 4 A7 Y E A
A 242 ol A B2yt
12.7+54=23518--- — 235




19.

8.05+0.23] |67.2+1.6

iy

vV V¥
0

o

A

8.05 +0.23 = 805 + 23 = 35
67.2+1.6=0672+16 =42
8.05 +0.23 < 67.2 + 1.6




20.

2952 +24.6 |8.19+6.3

iy

vV V¥
0

o

A

29.52 = 24.6 = 1.2
819+ 6.3 =13 0|2&
29.52 = 24.6 < 8.19 = 6.3 LY},




259 JAS B4 Yeor nA Aarets B¢
FE 2 dE P oA

102+4.25—%———D 425 =] |

o

vV V VvV v v Yy
02
n

=F 10200
D 10200
HMEFD 24
102 = 4.25 = @Tﬁ = 10200 + 425 = 24

100 100




o Ao wA Adshe HAYY
2 Az Ao

vV V VvV v v Yy
02
n

it

i

=H 3900
HEFD 3900
M B2
39+0.75 = 3900 = o 390075 = 52

100 100




23.

U7HE 85kg < o<l 3.4kg
=i

H -

>
> &HE: 25¢

AN
0]
=

n

85+ 3.4 =25(Y)




24. the theAle @A o

Hu
o
g

rlo

sl
rlo

2
|r

s,

I-'O

N
kil
il

>

o

4.1)16.7
16 4
3

D 41x4+3=16.7 ® 41x3+4=16.7
@4.1x4+0.3: 16.7 @ 41x340.03=16.7

® 41x04+03=16.7

U 2= 0.3 Yyt
oebA 16.7 +4.1=4---0.3 | B &
ghe AATAL 41 x4+ 0.3 = 16.7 YUt




25. 2718 Hl@stel >, < B =2 ERfA L

16.1+35 O 16.1

i

vV V¥
02

o

A

Ao .

16.1+3.5 = Ukt 4711 Bof 282 Bo] Yol 41

=




